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This paper consists of FOUR questions. Attemptquestion ONE (Compulsory) and any other TWO questions. 

Do not write on the question paper. 

 

Question ONE 

a. Define the term "child neglect" (1 mark) 

b. Outline any four socio-political causes of unemployment in Kenya (8 marks) 

c. Outline four economic implications of retirement (4 marks) 

d. Give any five symptoms a child may manifest when sexually abused (5 marks) 

e. Identify any three counseling interventions for terminally ill clients (6 marks) 

f. Explain three sociological reasons for divorce (6 marks) 

Question TWO 

a. Outline four psychological predisposing individuals to take drugs (4 marks) 

b. Discuss any five causes of domestic violence (10 marks) 

c. Explain any three interventions that can address divorce (6 marks) 
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Question THREE 

a. What is drug and substance abuse? (2 marks) 

b. Give four categories of drugs that are abused and indicate their possible effects on psychosocial functioning 

(8 marks) 

c. Outline five dangers encountered by commercial sex workers in Kenya (10 marks) 

Question FOUR 

a. Explain five psychological effects of premarital sex (10 marks) 

b. Explain any five measures that the government has put in place to curb child abuse (10 marks) 

Question FIVE 

a. Give four positive effects of divorce (4 marks) 

b. Discuss four ways how an employer can help employees deal with stress at the workplace (8 marks) 

c. Explain four goals that a career counselor should work towards (8 marks) 

 


